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Total No. of Questions—21

Total No. of Printed Pages—2 Regd. No.
Part III ,
BOTANY, Paper - 11
(English Version)
Time : 3 Hours] _ [Max. Marks : 60

Note :—Read the following instructions carefully :
(®)  Answer ALL fhe questions of Section A. Answer any SIX questions
~ out of eight in Section B and answer any TWO duestions out of three
in Section C.

(i) In Section A, questions from Sl. Nos. 1 to 10 are of very rhort answer
type. Each question carries TWO marks. Every answer may be limited
to 5 lines. Answer all these questions at one place in the same order.

(i) In Section B, questions from Sl. Nos. 11 to 18 are of short answer
type. Each quesﬁon carries FOUR marks. Every answer may be limited

~ to 20 lines.

(w) In Section C, questions from Sl. Nos. 19 to 21 are of ‘Long Answer

- Type'. Each question carries EIGHT marks. Every answer may be
- limited to 60 lines. ‘
(v) Draw labelled diagrams wherever necessary for questions in Sections B

and C. A
SECTION A 10x2=20
Note :— Answer ALL the questions. Each answer may be limited to 5 lines.
1. What are Pleomorphic bacteria ? Give an example.
2. Name two amino acids in which Sulphur is present. _
3. Who proposed ‘Lock and Key hypothesis’ and ‘Induced fit hypothesis’ 7
4. What are the components of a Transcription unit ?
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Given below is the 'sequénce of coding strand of DNA in transcription

B
unit :
5 AATGCAGCTATTAGG 3‘
Write the sequence of :
(@) its complementary strand
()  the mRNA.
6. What is point mutation ? Give an example.
7. Name the nematode that infects the roots of tobacco plants Name the
strategy adopted to prevent infestation.
K3 Name any two artificially restructured plasmids.
9, Name the scientist who were credited for showing the role of Pemcll]m'
as an antibiotic. .
10. Name two semi-dwarf varieties of rice developed in India.
SECTIONB - 6x4=24
Note :— Answer ANY SIX questions. Each answer may be limited to
20 lines.
11.  Explain the structure of T-even bacteriophages.
12. Mention the advantages of selecting Pea plant for experiment by Mendel.
13. Tabulate any eight differences between C, and C, plants/cycles.
14.  Define L, Write a short note on RQ.
15. Give a b «f account of Bt-cotton.
16. Write thc physiological responses of Gibberellins in plants.
17. How many types of RNA polymerases exist in cells ? Write their names
and fanctions. .
18. “Transpiration is a necessary evil.” Explain.
S_E_MQ . 2x8=16
Note :— Ans ANY TWO questions. Each answer may be limited to
60 l..es, s
19. Lescribe 1/~ Tissue culture technique. What are the advantages of tissue
culture o+ = conventional method of plant breeding in crop improvement
. prugrammes 77 g
20. Explain the reactions [ Kreb’s cycle with schematic representation.
21.  Explain briefly tl. various processes of recombinant DNA technology.
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Total No. of Questions—21 i

Total No. of Printed Pages—2 Regd. No.
_ Part III
BOTANY, Paper - II
(Telugu Version)
Time : 3 Hours] . . - Max. Marks: 60

BHVE: e (800 IrSSosH wo B 55508,

() oenss ‘) &% eX EHoH Jwsss ‘D &% Ve @Hed”
| 03 0088, derisn RV 6NN Sl $PeS” D> Tokodd Sargrisves
(eSS ~

(i) amﬁ:m ‘2’ &% @m-mwg 1 o8 10 6% Ho SH» ‘ed
Beoy SSeerS SUSED. efTyEy |FHH Dok o‘.‘uvdab_en 158 SSreordaw
5 SoXelh SoSSse. b FHodnods EHISOr &'35'5&) o8 SHIE*
SSregrssven  (EPabSSS.

@) Ddegerise ‘D’ 6% P Somg 11 Ho& 18 SuBfe (EHeo ‘Seen’
SSreges S8, w878 @’)ﬁ& TP 5:°d:2).e>:r 18 SSeordsn 20

 SoRek S8E.

(v) DEeBS» ‘D’ & FH Jomg 19 Hod 21 SER Ko |FHew ‘&cs’
SSreEeS SEFD. efy Y SR QNS Sredpen. 158 SSregesan 60
SoFes Sdabdo.

@) ‘D HBak ‘D’ Jprdansd SHod oISTIwG S PO 5800
Sesved Habses. .

_ dpetisn-‘a’ . ' 10x2=20

SrelSS: (@) @@_eéo Belregesnen Ls.ro‘.inai:a

() (58 SSrerdsn B oSl S0ddsn.

L 2SS w@&oﬁ&w ©0® dWd? wodde aé&o&

2. &oag 50AS Dok '@5356 ssre HIH  Bodod.

3. ‘edo ¥ oevond, 66593«‘& aocﬁwgg'&cﬁs Derosred A FIErHow?

4. oHBpSo |E&rwos® Ho ehPowe D?
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5. eoBpso SSrwoé® DNA 6° fo srglar Do SOSE®0 3 ®od

5 B30 8ol BendSwbod.
5'AATGCAGCTATTAGG-3'
T Srg8Aré  SES  (FSrds
(@) Soxrss D6
() adzed RNA . 6°0 Srgd@rbe SOSESrR)) oabol.
6. Dot - adbSTrer ®o0d ADG? &f aocdn 3808,
7 T e 3{:353 SoEHe =OD JHEE JIWA? B SoFseaedy
26%803 5582 Bosod.
8. D3 Bods Hdmorr  HIG BoTed a%aégaﬁo Sos0s.

9. a?);o&‘:go'ﬁ: wodwaredEr & I@ehod svdgé)cr:ﬁo S0 q‘&SSéa 036(53'

ook,
10. mvdwaa’oé’e @ED&SQ& S5DS  Bodd angs FHS S8 Swesd Benod.
| DeeSn-‘D’ 6x4=24
eSSt (1) e [_So&@é'\)é'e I8! 88odBIH Jarerssves |@abod.
(@) |¥8 SSreerssy 20 wo§oe>§o SO S,
11.  T-S8Somghio wrdodrirde Jugaed) EboFod..

12. ol |S&erre % moss a:é.:‘fﬁ S-S 5@50555065 o @apesme»

Q&2
18. C; &dan C, Sog)ev/Sodire  aHEg 3‘3:3" WS Borosh 3950&
14. RQ D 2365@0150& RQ &8 osndy 0.
15. Bt-|$8 oD Sofy S god.
16. 53:52,.&)6’5 éa'gaé)cge) !56’:;50’& Sowol ©H8cdedH U°o‘.$>o&
17.  Swred® of) Swe RNA 0508w aowran? o8 2%, dped dS8ouos.
18, “ordhdo eSYEDS eIge’’ dIdoos. ;

DB 8’ 2x8=16

BredS (@) 3D Todh ISR o SSreIsoer |Fabod. ko

@ |58 SSeerssy 80 SoX el S8E .

19.  Swere SESo ©F ro88Y Jwrdo HBod JSBoTos. FoEarad 5&596’8 Sogpe

|SesSo, 553’395@)&: 3963@’55%@ ¥oh Smare SYSo So Sy e:veave» o‘)s'.bé?
20. B5) Soaos® SFAWY SEgeH Swo $HaH08° DS5B0S08. _
21, HISockred DNA o888 Ders06d 2 |3 8ahos E’ggom DSBoS0s.
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